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NEW QUESTION 1
A Linux administrator cloned an existing Linux server and built a new server from that clone. The administrator encountered the following error after booting the
cloned server:

Device mlismatch detected

The administrator performed the commands listed below to further troubleshoot and mount the missing filesystem:

$ls -al /dev/disk/by-uuid/
total 0

drwxr-xr-x 2 root 220 Jul 08:59

drwxr-xr-x 2 root 160 Jul 08:39 ..

lrwxrwxrwx 1 26 Jul 11:10 2251a54-6c14-9187-df8629373 -> ../../sdb
lrwxrwxrwx 1 root 26 Jul 11:10 4211c54-2al13-7291-bd8629373 -> ../../sdc
lrwxrwxrwx 1 root 26 Jul 11:10 3451b54-6d10-3561-ad8629373 -» ../../sdd

Which of the following should administrator use to resolve the device mismatch issue and mount the disk?

A. mount disk by device-id
B. fsck -A

C. mount disk by-label

D. mount disk by-blkid

Answer: D

NEW QUESTION 2
A Linux engineer receives reports that files created within a certain group are being modified by users who are not group members. The engineer wants to
reconfigure the server so that only file owners and group members can modify new files by default. Which of the following commands would accomplish this task?

A. chmod 775
B. umas

C. 002

D. chactr -Rv
E. chown -cf

Answer: B

NEW QUESTION 3
A Linux administrator needs to connect securely to a remote server in order to install application software. Which of the following commands would allow this
connection?

A. scp "ABC-key.pem" root@10.0.0.1
B. sftp rooteiO.0.0.1

C. telnet 10.0.0.1 80

D. ssh -i "ABC-key.pem" root@10.0.0.1
E. sftp "ABC-key.pem" root@10.0.0.1

Answer: D

NEW QUESTION 4
Which of the following tools is BEST suited to orchestrate a large number of containers across many different servers?

A. Kubernetes
B. Ansible

C. Podman

D. Terraform

Answer: A

NEW QUESTION 5
A Linux administrator was asked to run a container with the httpd server inside. This container should be exposed at port 443 of a Linux host machine while it
internally listens on port 8443. Which of the following commands will accomplish this task?

A. podman run -d -p 443:8443 httpd
B. podman run -d -p 8443:443 httpd
C. podman run —d -e 443:8443 httpd
D. podman exec -p 8443:443 httpd

Answer: A
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NEW QUESTION 6

A Linux administrator needs to expand a volume group using a new disk. Which of the following options presents the correct sequence of commands to

accomplish the task?

A. partprobe vgcreate Ivextend
B. Ivcreate fdisk partprobe

C. fdiskpartprobe mkfs

D. fdiskpvcreate vgextend

Answer: D

NEW QUESTION 7

Which of the following technologies can be used as a central repository of Linux users and groups?

A. LDAP
B. MFA
C. SSO
D. PAM

Answer: A

NEW QUESTION 8

While inspecting a recently compromised Linux system, the administrator identified a number of processes that should not have been running:

=

-

Which of the following commands should the administrator use to terminate all of the identified processes?

A. pkill -9 -f "upload*.sh"
B. kill -9 "upload*.sh"

C. killall -9 -upload*.sh”
D. skill -9 "upload*.sh"

Answer: C

NEW QUESTION 9

Which of the following tools is commonly used for creating CI/CD pipelines?

A. Chef

B. Puppet
C. Jenkins
D. Ansible

Answer: C

NEW QUESTION 10

An administrator recently updated the BIND software package and would like to review the default configuration that shipped with this version. Which of the

following files should the administrator review?

A. /etc/named.conf.rpmnew
B. /etc/named.conf.rpmsave
C. /etc/named.conf

D. /etc/bind/bind.conf

Answer: C

NEW QUESTION 10
A Linux system fails to start and delivers the following error message:

Checking all file systems

/dev/sdal contains a

/dev/sdal: Inodes that were part of
/dev/sdal: UNEXPECTED INCONSISTENCY;

Which of the following commands can be used to address this issue?

A. fsck.ext4 /dev/sdal
B. partprobe /dev/sdal
C. fdisk /dev/sdal

D. mkfs.ext4 /dev/sdal
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Answer: A

NEW QUESTION 13
A systems administrator needs to reconfigure a Linux server to allow persistent IPv4 packet forwarding. Which of the following commands is the correct way to
accomplish this task?

A. echo 1 > /proc/sys/net/ipv4/ipv_forward
B. sysctl -w net.ipv4.ip_forward=1

C. firewall-cmd --enable ipv4_forwarding
D. systemctl start ipv4_forwarding

Answer: B

NEW QUESTION 18

A Linux administrator has installed a web server, a database server, and a web application on a server. The web application should be active in order to render the
web pages. After the administrator restarts the server, the website displays the following message in the browser: Error establishing a database connection. The
Linux administrator reviews the following relevant output from the systemd init files:

[Unit)

Description=The Apache #HTTP Server

Wants=httpd-init.service

After=network.target remote-fs.target nss-lookup-target httpd-init,.service mariadb.service

[Unit]
Description=MariaDB 10.5 database server
After=network.target

The administrator needs to ensure that the database is available before the web application is started. Which of the following should the administrator add to the
HTTP server .service file to accomplish this task?

A. TRIGGERS=mariadb.service
B. ONFAILURE=mariadb.service
C. WANTEDBY=mariadb.service
D. REQUIRES=mariadb.service

Answer: D
NEW QUESTION 19
A systems engineer is adding a new 1GB XFS filesystem that should be temporarily mounted under /ops/app. Which of the following is the correct list of

commands to achieve this goal?

A. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg
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B. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg ) . ) ) ~ )
parted /dev/sdb --script mkpart primary xfs 1GB

C. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg

D. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg

mount /dev/app vg/app /opt/app

Answer: D

NEW QUESTION 22
A Linux administrator is tasked with creating resources using containerization. When deciding how to create this type of deployment, the administrator identifies
some key features, including portability, high availability, and scalability in production. Which of the following should the Linux administrator choose for the new
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design?

A. Docker

B. On-premises systems
C. Cloud-based systems
D. Kubernetes

Answer: D

NEW QUESTION 26
A systems administrator needs to check if the service systemd-resolved.service is running without any errors. Which of the following commands will show this
information?

A. systemctl status systemd-resolved.service
B. systemctl enable systemd-resolved.service
C. systemctl mask systemd-resolved.service
D. systemctl show systemd-resolved.service

Answer: A

NEW QUESTION 27
A cloud engineer needs to block the IP address 192.168.10.50 from accessing a Linux server. Which of the following commands will achieve this goal?

A. iptables -F INPUT -j 192.168.10.50 -m DROP

B. iptables -A INPUT -s 192.168.10.30 -j DROP

C. iptables -i INPUT --ipv4 192.168.10.50 -z DROP
D. iptables -j INPUT 192.168.10.50 -p DROP

Answer: B
NEW QUESTION 28

A systems administrator is troubleshooting connectivity issues and trying to find out why a Linux server is not able to reach other servers on the same subnet it is
connected to. When listing link parameters, the following is presented:

L
s
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.r-r--
1

[ ]
-

AST, MULTICAST, UP> mtu 150f galsc

o NaRR A A s L L

Based on the output above, which of following is the MOST probable cause of the issue?

A. The address ac:00:11:22:33:cd is not a valid Ethernet address.

B. The Ethernet broadcast address should be ac:00:11:22:33:ff instead.
C. The network interface eth0 is using an old kernel module.

D. The network interface cable is not connected to a switch.

Answer: D

NEW QUESTION 29
An administrator installed an application from source into /opt/operationsl/ and has received numerous reports that users are not able to access the application
without having to use the full path /opt/operations1/bin/*. Which of the following commands should be used to resolve this issue?

A. echo 'export PATH=$PATH:/opt/operations1/bin' >> /etc/profile
B. echo 'export PATH=/opt/operations1/bin' >> /etc/profile
C. echo 'export PATH=$PATH/opt/operations1/bin' >> /etc/profile
D. echo 'export $PATH:/opt/operations1/bin' >> /etc/profile

Answer: A
Explanation:

It would be better to put the directory before $PATH, so that way the directory is searched before the rest of the pathing options in $PATH.

NEW QUESTION 34
A Linux administrator needs to redirect all HTTP traffic temporarily to the new proxy server 192.0.2.25 on port 3128. Which of the following commands will
accomplish this task?

A. iptables -t nat -D PREROUTING -p tcp --sport 80 -j DNAT - -to-destination 192.0.2.25:3128
B. iptables -t nat -A PREROUTING -p top --dport 81 -j DNAT —-to-destination 192.0.2.25:3129
C. iptables -t nat -| PREROUTING -p top --sport 80 -j DNAT —to-destination 192.0.2.25:3129

D. iptables -t nat -A PREROUTING -p tcp --dport 80 -j DNAT —-to-destination 192.0.2.25:3128

Answer: D

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full XK0-005 dumps in VCE and PDF From SurePassExam
L' Sure PaSS https://www.surepassexam.com/XK0-005-exam-dumps.html (161 New Questions)

NEW QUESTION 38
Which of the following commands is used to configure the default permissions for new files?

A. setenforce
B. sudo

C. umask

D. chmod

Answer: C

NEW QUESTION 42
A systems administrator received a notification that a system is performing slowly. When running the top command, the systems administrator can see the
following values:

%Cpu(s): 2.7 us, 1.9 sy, 0.0 ni, 0.4 id, 95 wa, 0.0 hi, 0.0 si 0.0 st

Which of the following commands will the administrator most likely run NEXT?

A. vmstat
B. strace
C. htop
D. Isof

Answer: A

NEW QUESTION 47
A Linux administrator created the directory /project/access2all. By creating this directory, the administrator is trying to avoid the deletion or modification of files from
non-owners. Which of the following will accomplish this goal?

A. chmod +t /project/access?2all

B. chmod +rws /project/access?2all

C. chmod 2770 /project/access?2all

D. chmod ugo+rwx /project/access2all

Answer: A

NEW QUESTION 52
A systems technician is working on deploying several microservices to various RPM-based systems, some of which could run up to two hours. Which of the
following commands will allow the technician to execute those services and continue deploying other microservices within the same terminal section?

A. gedit & disown
B. kill 9 %1

C. fg %1

D. bg %1 job name

Answer: A
NEW QUESTION 53
A Linux engineer set up two local DNS servers (10.10.10.10 and 10.10.10.20) and was testing email connectivity to the local mail server using the mail command

on a local machine when the following error appeared:

Send-mail: Cannot open mail:25
The local machine DNS settings are:

S cat /etc/resolv.conf
nameserver 10.10.10.10 #web records
nameserver 10.10.10.20 #email records

Malil server: malil.example.com

Which of the following commands could the engineer use to query the DNS server to get mail server information?
A. dig @example.com 10.10.10.20 a

B. dig @10.10.10.20 example.com mx

C. dig @example.com 10.10.10.20 ptr

D. dig @10.10.10.20 example.com ns

Answer: B

NEW QUESTION 55
A Linux administrator needs to determine whether a hostname is in the DNS. Which of the following would supply the information that is needed?
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A. nslookup
B. rsyn

C. netstat
D. host

Answer: A

NEW QUESTION 57

A Linux administrator would like to use systemd to schedule a job to run every two hours. The administrator creates timer and service definitions and restarts the
server to load these new configurations. After the restart, the administrator checks the log file and notices that the job is only running daily. Which of the following is
MOST likely causing the issue?

A. The checkdiskspace.service is not running.

B. The checkdiskspace.service needs to be enabled.

C. The OnCalendar schedule is incorrect in the timer definition.
D. The system-daemon services need to be reloaded.

Answer: D

NEW QUESTION 59
A Linux systems administrator needs to persistently enable IPv4 forwarding in one of the Linux systems. Which of the following commands can be used together to
accomplish this task? (Choose two.)

. sysctl net.ipv4.ip_forward

. sysctl -w net.ipv4.ip_forward=1

. echo "net.ipv4.ip_forward=1" >> /etc/sysctl.conf

. echo 1 > /proc/sys/net/ipv4/ip_forward

. sysctl —p

. echo "net.ipv6.conf.all.forwarding=I" >> /etc/sysctl.conf

TmooOm>

Answer: BC

NEW QUESTION 64
Which of the following is a function of a bootloader?

A. Itinitializes all the devices that are required to load the OS.

B. It mounts the root filesystem that is required to load the OS.

C. It helps to load the different kernels to initiate the OS startup process.
D. It triggers the start of all the system services.

Answer: C

NEW QUESTION 67
A Linux administrator needs to ensure that Java 7 and Java 8 are both locally available for developers to use when deploying containers. Currently only Java 8 is
available. Which of the following commands should the administrator run to ensure both versions are available?

A. docker image load java:7
B. docker image pull java:7
C. docker image import java:7
D. docker image build java:7

Answer: B

NEW QUESTION 68
A Linux administrator is alerted to a storage capacity issue on a server without a specific mount point or directory. Which of the following commands would be
MOST helpful for troubleshooting? (Choose two.)

A. parted
B. df

C. mount
D. du

E. fdisk
F.dd
G.ls

Answer: BD

NEW QUESTION 69
A systems administrator is receiving tickets from users who cannot reach the application app that should be listening on port 9443/tcp on a Linux server.
To troubleshoot the issue, the systems administrator runs netstat and receives the following output:
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$# netstat -anp | grep appd | grep -w LISTEN

tcp 0 0 127.0.0.1:9443 0.0.0.0:* LISTEN 1234/appd

Based on the information above, which of the following is causing the issue?

A. The IP address 0.0.0.0 is not valid.

B. The application is listening on the loopback interface.
C. The application is listening on port 1234.

D. The application is not running.

Answer: B
Explanation:

The server is in a "Listen" state on port 9943 using its loopback address. The "1234" is a process-id

NEW QUESTION 72
A systems administrator is tasked with creating a cloud-based server with a public IP address.

-name: start an instance with a public IP address

community.abc.ec2 instance:
name: "public-compute-instance"”
key name: "comptia-ssh-key"”
vpc_subnet_id: subnet-S5cjsshl
instance type: instance.type
security group: comptia
network:
assign public ip: true
image i1d: ami-1234568
tags:

Environment: Comptia-Items-Writing-Workshop

Which of the following technologies did the systems administrator use to complete this task?
A. Puppet

B. Git

C. Ansible

D. Terraform

Answer: D

NEW QUESTION 73

A Linux administrator is creating a primary partition on the replacement hard drive for an application server. Which of the following commands should the

administrator issue to verify the device name of this partition?
A. sudo fdisk /dev/sda

B. sudo fdisk -s /dev/sda

C. sudo fdisk -l

D. sudo fdisk -h

Answer: C

NEW QUESTION 77

A user generated a pair of private-public keys on a workstation. Which of the following commands will allow the user to upload the public key to a remote server

and enable passwordless login?

A. scp ~/.ssh/id_rsa user@server:~/
B. rsync ~ /.ssh/ user@server:.~/

C. ssh-add user server

D. ssh-copy-id user@server

Answer: D

NEW QUESTION 78

A cloud engineer needs to remove all dangling images and delete all the images that do not have an associated container. Which of the following commands will

help to accomplish this task?
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A. docker images prune -a
B. docker push images -a
C. docker rmi -a images

D. docker images rmi --all

Answer: A

NEW QUESTION 80
A systems administrator configured firewall rules using firewalld. However, after the system is rebooted, the firewall rules are not present:

Chain INPUT (policy ACCEPT) L _
destination
target prot opt source

Chain FORWARD (policy ACCEPT) 4  nat
estination

target prot opt source

Chain OUTPUT (policy ACCEPT) | .

A A P y destination
target prot opt scource

The systems administrator makes additional checks:

- dynamic Ilreéwall Qaemon
Loaded: loaded (/ust/lib/systemd/system/firewalld.service: disabled; vendor preset: enapled)
Active: inactive (

L

e
mar £2va

-
Lot s I A

firewalld is not running

Which of the following is the reason the firewall rules are not active?

A. iptables is conflicting with firewalld.

B. The wrong system target is activated.

C. FIREWALL_ARGS has no value assigned.
D. The firewalld service is not enabled.

Answer: D

NEW QUESTION 83

A developer is trying to install an application remotely that requires a graphical interface for installation. The developer requested assistance to set up the
necessary environment variables along with X11 forwarding in SSH. Which of the following environment variables must be set in remote shell in order to launch the
graphical interface?

A. $RHOST
B. SETENV
C. $SHELL
D. $DISPLAY

Answer: D

NEW QUESTION 87
A Linux administrator is trying to remove the ACL from the file /home/user/data. txt but receives the following error message:

setfacl: data.txt: operation not permitted

Given the following analysis:

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



. Exam
M Sure

Recommend!! Get the Full XK0-005 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/XK0-005-exam-dumps.html (161 New Questions)

gl - - =
=[W=LwW=L——7 L3 Shkd
F Llle Qdild.LXL
& e rEA P
F OQLOuUr Stdl
= =
& ¥ = " = T i
el .dlCs na W
- 1 i
aoks « LW-
= ey g
A iputes

Which of the following is causing the error message?

A. The administrator is not using a highly privileged account.

B. The filesystem is mounted with the wrong options.
C. SELinux file context is denying the ACL changes.

D. File attributes are preventing file modification.

Answer: D

NEW QUESTION 91

A Linux administrator wants to set the SUID of a file named dev_team.text with 744 access rights. Which of the following commands will achieve this goal?

A. chmod 4744 dev_team.txt
B. chmod 744 --setuid dev_team.txt
C. chmod -c 744 dev_team.txt

D. chmod -v 4744 --suid dev_team.txt

Answer: A

NEW QUESTION 95

Junior system administrator had trouble installing and running an Apache web server on a Linux server. You have been tasked with installing the Apache web
server on the Linux server and resolving the issue that prevented the junior administrator from running Apache.

INSTRUCTIONS

Install Apache and start the service. Verify that the Apache service is running with the defaults. Typing “help” in the terminal will show a list of relevant event

commands.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.

CentOS Command Prompt

[rootBcentosT] #

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

yum install httpd

systemctl --now enable httpd systemctl status httpd

netstat -tunlp | grep 80 pkill <processname> systemctl restart httpd systemctl status httpd

NEW QUESTION 99

After installing some RPM packages, a systems administrator discovers the last package that was installed was not needed. Which of the following commands can
be used to remove the package?

A. dnf remove packagename

B. apt-get remove packagename
C. rpm -i packagename

D. apt remove packagename

Answer: A

NEW QUESTION 100
A Linux engineer is setting the sticky bit on a directory called devops with 755 file permission. Which of the following commands will accomplish this task?

A. chown -s 755 devops
B. chown 1755 devops
C. chmod -s 755 devops
D. chmod 1755 devops

Answer: D

NEW QUESTION 103
A Linux administrator was notified that a virtual server has an 1/0O bottleneck. The Linux administrator analyzes the following output:

b T TN ] - -
root@linux:~¥% uptime
18 AT+ AT 94 F 184+ 50 T - e Pty EF L = Eo& s A
18:43:47 up 1 day, 19:58, 1 user, load average: 9.%0, 5.83, 2.4%9
~ & i ...' 4 o
rootB8linug:~# vmstat 10 10
DIOCS ——========= MEMOLY--======== == SWaAD----= --==-- [ == =BYSEElr ~emeemre———n— cpl-------
i q g 4 s e = 5 ] 1 5 s T i ¥ =
r b swpd free Dbuff cache sl 50 bl bo n €3 us sy 1d wa st
13 0 5520 141228 698932 2325312 O 2 10 28 142 167 1 0 9% 0 0
10 o008 131280 9B832 232532 0 28211 0 28211 342 193 & § 0 0
EENE AGE  GA437 7198794 57 { EYAD 1 2 1
W A llrl-'!: 'f::f-an e . e P | I 1'hdr1r 1) o i U e 3#-: IJFI-' E’E '1 | W

root@linux:~¢ free -m

oy e

e o, - Ty o 1 s dE Fomm b RS

total used  free shared buff/cache available
Mem: 3933 1454 110 13 2368 2202
Swap: 1497 > 1491

Given there is a single CPU in the sever, which of the following is causing the slowness?

A. The system is running out of swap space.
B. The CPU is overloaded.

C. The memory is exhausted.

D. The processes are paging.

Answer: B

NEW QUESTION 106

A Linux administrator found many containers in an exited state. Which of the following commands will allow the administrator to clean up the containers in an
exited state?

A. docker rm --all

B. docker rm $(docker ps -aq)
C. docker images prune *

D. docker rm --state exited

Answer: D

NEW QUESTION 107

A Linux engineer needs to download a ZIP file and wants to set the nice of value to -10 for this new process. Which of the following commands will help to
accomplish the task?

A. $ nice -v -10 wget https://foo.com/installation.zip

B. $ renice -v -10 wget https://foo.com/installation.2ip
C. $ renice -10 wget https://foo.com/installation.zip
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D. $ nice -10 wget https://foo.com/installation.zip

Answer: D

NEW QUESTION 109
A systems administrator needs to verify whether the built container has the app.go file in its root directory. Which of the following can the administrator use to verify
the root directory has this file?

A. docker image inspect

B. docker container inspect

C. docker exec <container_name> Is
D. docker ps <container_name>

Answer: B

NEW QUESTION 110
Using AD Query, the security gateway connections to the Active Directory Domain Controllers using what protocol?

A. Windows Management Instrumentation (WMI)
B. Hypertext Transfer Protocol Secure (HTTPS)
C. Lightweight Directory Access Protocol (LDAP)
D. Remote Desktop Protocol (RDP)

Answer: A

NEW QUESTION 113
A systems administrator installed a new software program on a Linux server. When the systems administrator tries to run the program, the following message
appears on the screen.

Hardware virtualization support is not available on this system.
Either is not present or disabled in the system's BIOS

Which of the following commands will allow the systems administrator to check whether the system supports virtualization?

A. dmidecode -s system-version

B. Iscpu

C. sysctl -a

D. cat /sys/device/system/cpu/possible

Answer: B

NEW QUESTION 118
A systems administrator is checking the system logs. The administrator wants to look at the last 20 lines of a log. Which of the following will execute the
command?

A. tail -v 20
B. tail -n 20
C. tail-c 20
D. tail -1 20

Answer: B

NEW QUESTION 121

A Linux administrator booted up the server and was presented with a non-GUI terminal. The administrator ran the command systemctl isolate graphical.target and
rebooted the system by running systemctl reboot, which fixed the issue. However, the next day the administrator was presented again with a non-GUI terminal.
Which of the following is the issue?

A. The administrator did not reboot the server properly.

B. The administrator did not set the default target to basic.target.

C. The administrator did not set the default target to graphical.target.
D. The administrator did not shut down the server properly.

Answer: C

NEW QUESTION 125
Several users reported that they were unable to write data to the /oraclel directory. The following output has been provided:

- — — - - - p— —

Filesystem |Size Used Avallable |Use% Mounted on
| - < N — 1 A | E— - = = - = —
/dev/sdbl 100G 506G 1506 50% /oraclel

Which of the following commands should the administrator use to diagnose the issue?

A. df -i Joraclel
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B. fdisk -1 /dev/sdbl
C. Isblk /dev/sdb1l
D. du -sh /oraclel

Answer: A

NEW QUESTION 128
A server is experiencing intermittent connection issues. Some connections to the Internet work as intended, but some fail as if there is no connectivity. The
systems administrator inspects the server configuration:

Routing table:

dafault via £9.107.

57.129 dev ensl proto static metric 100

default via 10.0.5.1 dev ensll proto dhcp metric 101

10.0.0.0/
89.107.15
89.107.15
§2.107.15

16 dev snll proto kernel scope link srec 10.0.6.225 metric 101
-Il- 178 /5

.128/26 via 89.107.157.129% dev ens3 proto static metric 100
.125 dev ens3 proto static scope link metric 100

7.160/29 dev ensl proto kernel scope link src 89.107.157.161 metric 100

IP configuration:

ens3:

inet 89.107.157.1€1/29 brd £9.107.157.167 scope global neprefixroute ens3
ensll:

inet 10.0.6.225/16 brd 10.0.255.255 scope global noprefixroute dynamic ensll
ARP table:
hddress Hwtype Hwaddress Flags Mask Iface
10.0:5:.1 ether 6d:dl:54:c4:75:ch c ansll
£9.107.157.129 ether S5c:5e:ab:01:85:ct C ensi
£9.107.157.162 ether 52:54:00:21:44:0a C ensj
10.0.255.1 ether 00:50:7f:e3:aa:lc c ensll

fetc/reso
Generated

lv.conf:
by NetworkHanager

gsgearch company.com
nameserver 10.0.5.1

Which of the following is MOST likely the cause of the issue?

A. An internal-only DNS server is configured.
B. The IP netmask is wrong for ens3.

C. Two default routes are configured.

D. The ARP table contains incorrect entries.

Answer: C

NEW QUESTION 132
Which of the following enables administrators to configure and enforce MFA on a Linux system?

A. Kerberos
B. SELinux
C. PAM

D. PKI

Answer: A

NEW QUESTION 136

Users have been unable to save documents to /home/tmp/temp and have been receiving the following error: Path not found

A junior technician checks the locations and sees that /lhome/tmp/tempa was accidentally created instead of /home/tmp/temp. Which of the following commands
should the technician use to fix this issue?

A. cp /home/tmp/tempa /home/tmp/temp
B. mv /home/tmp/tempa /home/tmp/temp
C. cd /temp/tmp/tempa
D. Is /home/tmp/tempa

Answer: B

NEW QUESTION 139
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A new Linux systems administrator just generated a pair of SSH keys that should allow connection to the servers. Which of the following commands can be used

to copy a key file to remote servers? (Choose two.)

A. wget

B. ssh-keygen
C. ssh-keyscan
D. ssh-copy-id
E. ftpd

F. scp

Answer: DF

NEW QUESTION 144

A Linux administrator is troubleshooting a memory-related issue. Based on the output of the commands:

y vmstat -s --unlt M

968 M total memory

331 M used memory
482 M active memory
279 M 1nactive memory

59 M free memory
s free -h

total used free shared buff/cache

Mem: 965M 331M 95M 13M 540M
Swap: 0 0 0
$ ps -aux | grep script.sh
USER PID sCPU sMEM VSZ RSS TTY STAT START TIME
user 8321 2,8 40.5 322484% 371687 7 SN 16:49 2:09

Which of the following commands would address the issue?

A. top -p 8321

B. kill -9 8321

C. renice -10 8321
D. free 8321

Answer: C

NEW QUESTION 147
Joe, a user, is unable to log in to the Linux system. Given the following output:

5 ' T -
‘eTtc/pASsSwaIos s 01y L) sr/nome/"pe:/pin/nologin
+ L) il il e -~ o - AT e W e B
ecc/anadow: - oe SESIuCwetIx9E Te-GhaKJadfESs Te 3453

Which of the following commands would resolve the issue?
A. usermod -s /bin/bash joe

B. pam_tally2 -u joe -r

C. passwd -u joe

D. chage -E 90 joe

Answer: A

NEW QUESTION 150

avallable
453M

COMMANT!

/home/user/script.sh

L% & ]
L
l_n
D
L

I

The security team has identified a web service that is running with elevated privileges A Linux administrator is working to change the systemd service file to meet

security compliance standards. Given the following output:
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= el = =y =t e st

Which of the following remediation steps will prevent the web service from running as a privileged user?

A. Removing the ExecStarWustr/shin/webserver -D SOPTIONS from the service file

B. Updating the Environment File line in the [Service] section to/home/webservice/config
C. Adding the User-webservice to the [Service] section of the service file

D. Changing the:nulti-user.target in the [Install] section to basic.target

Answer: A

NEW QUESTION 154
A junior administrator is setting up a new Linux server that is intended to be used as a router at a remote site. Which of the following parameters will accomplish
this goal?

A. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg . _
echo 1 > /proc/sys/net/ipvd4/ip forward

iptables -t nat -A PREROUTING -1 eth0 -7 MASQUERADE

B. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg
echo 1 > /proc/sys/net/ipvd/ip forward
iptables -t nat -D POSTROUTING -0 eth0 -] MASQUERADE

C. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg
echo 1 > /proc/sys/net/1pv4/ip forward

iptables -t nat -A POSTROUTING -0 eth0 -j MASQUERADE

D. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg

echo 1 > /proc/sys/net/ipv4/ip forward
iptables -t nat -A PREROUTING -0 eth(0 -] MASQUERADE

Answer: A

NEW QUESTION 159
A newly created container has been unable to start properly, and a Linux administrator is analyzing the cause of the failure. Which of the following will allow the
administrator to determine the FIRST command that is executed inside the container right after it starts?

A. docker export <container_id>
B. docker info <container_id>

C. docker start <container_id>

D. docker inspect <container_id>

Answer: D

NEW QUESTION 161

Due to low disk space, a Linux administrator finding and removing all log files that were modified more than 180 days ago. Which of the following commands will
accomplish this task?

A. find /var/log -type d -mtime +180 -print -exec rm {} \;
B. find /var/log -type f -modified +180 -rm

C. find /var/log -type f -mtime +180 -exec rm {} \

D. find /var/log -type c -atime +180 —remove
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Answer: A

NEW QUESTION 162
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